

Home Search Collections Journals About Contact us My IOPscience

Simple Lie algebras with a subalgebra of codimension one

This content has been downloaded from IOPscience. Please scroll down to see the full text. 1985 Russ. Math. Surv. 40 215 (http://iopscience.iop.org/0036-0279/40/1/L12)

View the table of contents for this issue, or go to the journal homepage for more

Download details:

IP Address: 155.198.212.15 This content was downloaded on 03/02/2016 at 21:03

Please note that terms and conditions apply.

Simple Lie algebras with a subalgebra of codimension one

A.S. Dzhumadil'daev

We study Lie algebras over a field P of positive characteristic p. The general Lie algebra of Cartan type

$$W_1(m) = \langle e_i \mid -1 \leq i \leq r = p^m - 2 \rangle, \quad [e_i, e_j] = \left(\binom{i+j+1}{j} - \binom{i+j+1}{i} \right) e_{i+j}$$

is simple for p > 2. When p = 2, it has an ideal of codimension 1: $\overline{W}_1(m) = \langle e_i | -1 \leq i \leq r = 2^m - 3 \rangle$ (see [1]). By a Zassenhaus algebra we mean the simple Lie algebra $W_1(m)$ (p > 2), $\overline{W}_1(m)$ (p = 2).

Theorem. Every simple Lie algebra with a subalgebra of codimension 1 over a perfect field of characgeristic p > 0 is isomorphic to a three-dimensional Lie algebra of type A_1 or to a Zassenhaus algebra.

With a filtered Lie algebra $\mathcal{L} = \mathcal{L}_{-1} \supset \mathcal{L}_0 \supset \ldots \supset \mathcal{L}_r$ with multiplication $\{, \}$ we can associate the graded algebra $L = \bigoplus_{i=-1}^{r-1} L_i, L_i \cong \mathcal{L}_i / \mathcal{L}_{i+1}$, in which the multiplication is given by the rule $[\overline{x}, \overline{y}] = \overline{\{x, y\}} / \mathcal{L}_{i+j+1}$ for $\overline{x} \in L_i, \overline{y} \in L_j$. In such cases we say that \mathcal{L} is an $\{L_i\}$ -deformation of L. After identification of L_i with $\mathcal{L}_i / \mathcal{L}_{i+1}$ the multiplication in \mathcal{L} can be defined by the rule $\{x, y\} = [x, y] + \sum_{q \ge 1} \psi_q(x, y)$, where $\psi_q : L \times L \to L$ is a bilinear skew $q \ge 1$

symmetric map. Then the multiplication $\{, \}_t = [,] + \sum_{q \ge 1} t^q \psi_q$ defines a deformation of L,

and $\{,\}_{i=1} = \{,\}$. Every simple Lie algebra with a subalgebra of codimension 1 except A_1 is isomorphic to some $\{L_i\}$ -deformation of a Zassenhaus algebra (Kostrikin). It follows from the results of [2] and [3] that such algebras are isomorphic to one of the following algebras, depending on parameters $\varepsilon_1, \ldots, \varepsilon_{m-1} \in P$: m-1

$$\begin{aligned} \mathcal{L} &= W_{1}(m, \epsilon), \quad p \ge 2, \qquad \{e_{i}, e_{j}\} = [e_{i}, e_{j}] \stackrel{\cdot}{\to} \sum_{\substack{k=1 \\ m-1}} \varepsilon_{k}(\delta_{i,-1}\delta_{j,p}k_{-1} - \delta_{j,-1}\delta_{i,p}k_{-1})e_{p}m_{-2}, \\ \mathcal{L} &= \overline{W_{1}}(m, \epsilon), \quad p = 2, \quad \{e_{i}, e_{j}\} = [e_{i}, e_{j}] \stackrel{\cdot}{\to} \sum_{\substack{k=1 \\ m-1}} \varepsilon_{k}(\delta_{i,-1}\delta_{j,2}k_{-2} - \delta_{j,-1}\delta_{i,2}k_{-2})e_{2}m_{-3}, \end{aligned}$$

where $\delta_{i,j}$ is the Kronecker delta. It remains to construct an isomorphism $\mathscr{L} \cong L$. To do this we find an element $E \in \mathscr{L}$ such that $(\operatorname{ad} E)^{r+2} = 0$, $(\operatorname{ad} E)^{r+1} \neq 0$. Then the map $e_i \mapsto (\operatorname{ad} E)^{r-i}(e_r)$, $-1 \le i \le r$, gives the required isomorphism.

Let
$$E = e_{-1} + \sum_{i=1}^{k} \lambda_i e_p^{i} e_{-2} \in W_1(m, \epsilon)$$
. We claim that
(1) (ad $E)^{p^k} = \sum_{i=0}^{k} (\mu_i \text{ ad } e_{-1})^{p^{k-i}} + ad x(k), \quad x(k) \in \mathcal{L}_0 \cong \bigoplus_{i=0}^{r} \langle e_i \rangle,$

where $\mu_i \in P$ has the form $\mu_i = \lambda_i + f_i$, with $f_i = f_i(\lambda_1, \ldots, \lambda_{i-1})$ independent of $\lambda_i, ..., \lambda_m$. For k = 0 this is obvious. Suppose that (1) holds for k-1. If $x \in \mathcal{L}_0$, then $(ad x)^p$ is an inner derivation. Therefore, by Jacobson's formula,

$$(\text{ad } E)^{p^{k}} = \left(\sum_{i=0}^{k-1} (\mu_{i} \text{ ad } e_{-1})^{p^{k+i-1}} + \text{ad } x (k-1)\right)^{p} = \sum_{i=0}^{k-1} (\mu_{i} \text{ ad } e_{-1})^{p^{k-i}} + (\lambda_{k} + f_{k}) \text{ ad } e_{-1} + \text{ad } x(k),$$

where $x(k) \in \mathcal{L}_0$, $f_k \in P$ and $f_k \in P$ depends on μ_1, \ldots, μ_{k-1} , hence, by the inductive hypothesis, f_k depends only on $\lambda_1, \ldots, \lambda_{k-1}$.

Note that $(ad \ e_{-1})^{pm}$ $(e_{p^m-2}) = \sum_{k=1}^{m-1} \varepsilon_k e_p^{m} e_{p^k-2}$. Substituting this in (1) with k = m, we see

that the condition (ad E)^{r+2} ($e_{p^{m-2}}$) = 0 is equivalent to

(2)
$$\mu_i^{p^1} + \varepsilon_{m-i} = 0, \quad 1 \leq i \leq m-1, \quad \mu_m = 0, \quad \mu = 0,$$

where $[x(m), e_{p^m-2}] = \mu e_{p^m-3}$. Clearly, the system of equations (2) except the last one has a solution for $\lambda_1, ..., \lambda_m \in P$ if P is perfect. Since in $\mathcal{L} = W_1(m, \epsilon)$ we can choose the basis $\{(ad E)^i \ (e_r) \mid 0 \le i \le r+1\}$, we find that $(ad E)^{p^m}(x) = \mu x$ for all $x \in L$. In particular for x = E we conclude from this condition that $\mu = 0$. Thus, we have proved that $W_1(m, \epsilon) \cong W_1(m)$ for $p \ge 3$.

When $L = \overline{W}_1(m, \epsilon)$, we extend the algebra by adjoining a new basis vector e_{2^m-2} and defining $[e_i, e_{2^m-2}] = \delta_{i,-1}e_{2^m-3}$. Then $(\text{ad } E)^{2^m-1} (e_{2^m-3}) = (\text{ad } E)^{2^m} (e_{2^m-2}) = \mu e_{2^m-3}$ and all the above arguments carry over except for one: in (2), the equation $\mu_m = 0$ is insoluble, since $\lambda_m = 0$. *Remark.* In the proof of Theorem 3.9 a) in [4] it is asserted that there is an ad-nilpotent element of the form $E' = e_{-1} + \lambda_0 e_0 + \sum_{i=1}^m \lambda_i e_p^{m-p^i} e_{-2} \in W_1(m, \epsilon)$. This is false, in general, for m > 2, since i=1 $(\text{ad } E')^{p^m} = \sum_{i=1}^m \lambda_0^{p^m-p^i} (\text{ad } e_{-1})^{p^i} + \text{ad } x, \quad x \in L, \quad \lambda_0 \in P$

(the analogue of (1), above), and the (m-1) equations $\lambda_0^{p^m-p^i} + \varepsilon_i = 0, 1 \le i \le m-1$, in the single variable λ_0 (the analogue of (2)) are insoluble. More detailed calculations show that E' is ad-nilpotent only when $\lambda_i = 0$ for $1 \le i \le m-1$.

This error in the proof of 3.9 a) in [4] was noted earlier in [5], where the theorem is proved in the case of algebraically closed fields of characteristic $p \ge 3$, and an example is given to show that it is false in the case of a field that is not algebraically closed.

References

 A.I. Kostrikin and I.R. Shafarevich, Graded Lie algebras of finite characteristic, Izv. Akad. Nauk SSSR Ser. Mat. 38 (1969), 251-322. MR 40 # 5680.

= Math. USSR-Izv. 3 (1969), 237-304.

- [2] A.S. Dzhumadil'daev and A.I. Kostrikin, Deformations of the Lie algebra $W_1(m)$, Trudy Mat. Inst. Steklov. 148 (1978), 141-155. MR 81k:17008. = Proc. Steklov Inst. Math. 148 (1978), 143-158.
- [3] _____, Cohomology of modular Lie algebras, Mat. Sb. 119 (1982), 132-149.
 MR 83m:17008.

= Math. USSR-Sb. 47 (1984), 127-143.

- [4] R.K. Amayo, Quasi-ideals of Lie algebras. II, Proc. London Math. Soc. 33 (1976), 37-64.
 MR 53 # 13327b.
- [5] G.M. Benkart, M. Isaacs, and J.M. Osborn, Lie algebras with self-centralizing ad-nilpotent elements, J. Algebra 57 (1979), 279-309. MR 80i:17006.

Inst. Math. Mech. Kazak. Acad. Sci.

Received by the Board of Governors 11 March 1983

216